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Map neot up to date i
Exhaust Fan - Can be started and stopped but not stelled or rewersed

When fan & stared &ir will come in 3 and out 1 8nd =
T persons
Call ow: names of persons before moving.

FPerson outby in 1 tekes 4 timbers to neach.
Evidence of fire (258 ppm O in Trighl nedk s s topped by gas test = fire. Mo guitter beshind baricade in 1.

Delay i team explores lzstopen inMe 1 entry .



Information missing from this problem
The 4th ventilation does not have the 2 timbers in front of the barricade in 1.

They need to be set at the person before ventilating.
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